Lesson 2.4- Different Forms of a Parabola.notebook

October 18, 2017

Lesson 2.4 Objective: SWBAT find parabolas in different
forms.

Kickoff O+ W=D

Write each of the following in standard form.
1y ax=6x+1 Y y*4bv-\=0)

2) 3x=x X";"by )
4) -9=5x+9x*

Ax*4S219= O

Different Forms of a Parabola

Classifying a Polynomial Function
Polynomial functions are classified by the degree of the polynomial (largest exponent)

Examples: Clagsify these polynomj s (
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Axis of Symmetry
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Examples: Find the axis of symmetry
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b) f(x)=2x>-7x+6 (‘)
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a) f(x)=x2—-8x+7

c) flx)=x2-7

Three Forms of Parabolas
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To put into vertex form: 1 f(x)=2x>+8x+7
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Examples:

2. f)=—-x*+6x—8

3. Put in standard form: f(x) = —10
13
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5.x2—3x—4y+f=0 6. Puti m standard form: (x + 5)2 = —8(y + 2)
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Lesson 2.4- Objective: SWBAT write quadratic
equations in different forms.

Kickoff

In your own words, describe why you
think we would want to write a quadratic
equation in a different form.
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Practice:
Put each of the following into vertex form.
1) y=x%+4x 2)y = 2x? +36x + 170
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3) (y+4) (=2 4)162x +731 = —y — 9x?
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Put each of the following into modified vertex form.

Nx?+4x+6y—2=0 8)y=%x2+§x+§
5)6x2 +12x+y +13=0 6)y = —x? —14x — 59

9)x2—6x—10y—1=0 10)x2+8x+8y+32=0

—12 7. .5 —2(x—7)% —

11))’*4’( X +t3 12)y=2x-7) -4

15) (x — 3)2 = 4(y — 3) 1)y =1(x+4)7+3
Put each of the following in standard form.

1M y=-2(x+52-3 18) (x —8)2=8(y—1)

13) y=—6(x+1)2—7 14)%(;”4):(9577)2
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